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4.3 Solving Polynomial Inequalities (Day 2)

Math Learning Target:

"By the end of class, | can solve any polynomial inequality."

Ex. 1: For the functions f{(x) and g(x), v )
determine graphically the intervals for:
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Entertainment: Do #7 first...pp.227-228 #7*ef, 3, 8,9, 12** 13** 14,15

Challenge: #18

*use [elEE 1o to confirm your answers;

** the text has answers rounded in the back, but you must state your answers as exact values
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Ex. 2: Determine the intervals for g(x) <f(x) given that
f(x)=x*-5x> +4x* +17x—40
g(x)=2x" —5x* —10x+14

Io)< ()
QoS (03t 14 ><(1—\’>§~( C(&Q—r 9% -9

Rk > §>< = (03t /A/_><(1 4_\,3 q/(Q

— Hr+90< O
- a “Ae4TY < o
4t Plha)= — T3 —anx LYy
| = < L acentxy)
Find whow plyyz s 5 () - g@:o
fl2)=0 3L_Q 27 -2}
"2 179 91 -5y J 2-3 M
VORI LY Y SY
a1 93 oe
F()():_ (x+°1>{)(5‘0()<%‘o??)<-97> y=x"-5x>+4x* +17x - 40

y=2x"-5x>-10x+14
=- () (x 3) (bt ﬁ>

== Gar) (3 ) (k- 353 )
PEI= - 6o (15

€€ro§: dQ. S
Ondo = 1R

~ (x43)(x=3)°< 0

_3§§3X3<x<zkx>3

O O N N U
QBB WWNN = =

—(=)(-) |- F)(-) |~ )(—I—)
NE + 7 4 3 2
Neg! ' ot Yo ! y=—x'+7x> —9x* —27x +54

- C“Of@U(%,w}



4.3_2 Solving Polynomial Inequalities PART 2 (Fall 2018)-f18e October 24, 2018

Last Day's Work:
Entertainment: Use a chart to organize your solution instead ofa "number line strategy".

pp. 225-228 #1ab, 2, 5, 6*, 7abc, Challenge #17

Error in answer for 6e. The answer should be: x < —73 or x >3

P-225 1. Solve each of the following using a number line strategy. Express your

answers using set notation.
a) (x+2)(x—3)(x+1)=0
b) —2(x—2)(x—4)(x+3)<0
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p-227 7. Solve the following inequalities algebraically. Confirm your answer
with a graph.
a) x’—6x+9=16
b) x* —8x <0
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